FETH 2024 FE¥ = FLHE— AN &
YIE BSEXEZNESENL

—., EEH (H 165, B 15)

LR A

2EH M ABE

3. HEAGHE 5

4N B G B2

5.0K )

6.fEH A&

7. WAk

8.MHEE k

= EEE (14, BIRARERETMRSEREETSFWMERMNVE L. 9 ~12/
B, §PMNERBE-ANEMRER, B8/M@E259; £ 13 14/ MNBAZTURE, BIEERD
AN LIESIET, B35, £MEREMBIY, EEEMREFEEB17, Tk,
ZiRFEIEFOD)

9A 10.C 11.B 12D 13.AC 14.ABC

=\ WEB 259, F15/hE6T, F 160 17N Z85))

15.fift -
(1) t4;=6min+4min=10min
t=t—t !¢1?=34min—10min=24min ...................................................... (2%)
(2) t4+=10min=10x60s=600s
S i =0 il pi= 1m/sX600S=600M  +evverererrrrreeetestiiteiiiiiiiiiiiiiii, ( 2 ﬁ.)
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(1) p=m/V=55g/500m3=1.1g/cm3 ............................................................ (2&}.)
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